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Section 1 - Reasoning

No. of Questions: 50

1) Select the alternative that will replace the question mark in the given analogy.
459 : 954 :: 387 : ?

A) 983
B) 783
C) 939
D) 700

1) 39 [dhed &7 TIaT Y T feT a0 Ireey & wed g & giaeaiiad #m|

459 :954 :: 387 : ?

A) 983
B) 783
C) 939
D) 700

2) Select the alternative that will replace the question mark in the given analogy.
25:5::169:7?

A) 9

B) 11
C) 13
D) 18

2) 39 faheq &1 TTeT Y ST ST T ATeed & U faget ol gfaeeniid S|
25:5::169: ?
A) 9

B) 11
C) 13
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D) 18

3) A number P is a least two digit number such that it leaves 2 as a remainder in each case when
divided by 4, 3 and 8. Find the number P.

A) 26
B) 42

C) 29
D) 48

3) HEAT P Ueh #gsTciA &l bl HEAT &, it 4, 3 3R 8 GaRT ATl glet I Tedeh HATHe H 2 A9 &
T H ST | TEIT P &Y ATd HY|

A) 26
B) 42
C) 29
D) 48

4) Observe the given series.What number should come next in this series?

32, 31, 33, 32, 34, 33, 35, 34

A) 36
B) 32
C) 33
D) 35

4) & 378 @l T ANETOT Y| 38 H@oll 7 MY leT A HEAT AT ATFT?
32, 31, 33, 32, 34, 33, 35, 34

A) 36
B) 32
C) 33
D) 35

5) W is half of J. J is double of K. K is 109. The value of "W" is
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A) 108
B) 219
C) 109
D) 218

5) J o1 TEM W 1 K ST &[T J &1 K o1 #HTeT 109 §1 "W" T HTeT fehelall §72

A) 108
B) 219
C) 109
D) 218

6) In a certain code, MOUNTAIN is coded as NIATNUOM. What will be the code of the word
MGSFFJSK?

A) KSIFFSEM
B) KSIFGTGM
C) KSIHFSGM
D) KSJFFSGM

6) T fA2ra T # MOUNTAIN & NIATNUOM % &9 & % a3 AT JTar g1 458 MGSFFJSK T &
AT ZRI?

A) KSIFFSEM
B) KSIFGTGM
C) KSIHFSGM
D) KSJFFSGM

7) In a certain code, PARAS is coded as QBSBT. What will be the code of the word NGTTY?

A) OHUZU
B) NHUTY
C) OHUUZ
D) OHUTZ

7) T 4% %2 ¥ PARAS &1 QBSBT % &9 # %2 a5 {471 STt g1 o158 NGTTY 7 F2 #7212
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A) OHUZU
B) NHUTY
C) OHUUZ
D) OHUTZ

8) A image is given on the left with a pattern. Which of the four images on the right does NOT have
the pattern of the left image as its part?

g LAY |

1 2 3 4

A) 1
B) 2
C) 3
D) 4

8) 98 31 Ueh UeeT o TTY Teh T &1 915 g | &8 3R ol IR =t # & forast a8 e a1 1ot 7181 872

g LAY |

1 2 3 4

A) 1
B) 2
C)3
D) 4

9) Find the odd one out.

A) Car : Vehicle
B) Iron : Metal
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C) Chair : Furniture
D) Door : Window

9) fTavH AT FIfFT|

A) I digdd

B) aier: SIG|

C) S8 Bl
D) axare: fagdhr

10) You are given a statement.
Statement : Today is NOT Monday.

Which of the following questions can be answered by using the given statement?

A) Is it a Wednesday tomorrow?
B) Is it a Tuesday tomorrow?
C) Was it a Saturday yesterday?
D) Was it a Friday yesterday?

10) 37T9ehT Ueh hUeT T 31T g
HYeT: 3Tl AIHAAR I8l

feT 37T FUT FT ITIRT b [AeT F F i T Y27 T 3AX AT ST TeheT &2

A) T el JUAR 82

B) &1 sl FHeToIaR §7

C) &1 FoeT AR AT?

D) arr et ergFar ar?

11) What will be the 60% of a number if 80% of that number is 160?

A) 90
B) 120
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C) 140
D) 150

11) fordlT TEaT FT 60% FAT BI9TT, 379X 3T TE&AT T 80%, 160 &2

A) 90
B) 120
C) 140
D) 150

12) Pointing to lady, Raju (Raju is a male) said ,"She is the daughter of the wife of my son's father."
How is the lady related to Raju's wife?

A) Sister
B) Mother

C) Daughter
D) Daughter-in-law

12) Teh AT I 3R SURT HLd gx, TS, (Y151, Th 92 &) o e, "dg A 9¢ & o o Teelt Sy S g1”
AT o] T Tt § H8 Fard §72

A st

B) &t

C) sér

D)aE-

13) If 'Son' is related to 'Daughter’, then 'Brother' is related to

A) Aunt

B) Sister
C) Father
D) Friend

13) Ife Ser '9Er § Gt g, df '8’ fohad efad g7
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A) Ty
B) gaeT
C) Ryar
D) areqr

14) Find the cube that can be formed by folding the sheet shown below.
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)
o
B IOV
-
o ¢l

[
D) f'j

15) Among the given group of 4 images, which set of images can be classified as a group?

A) (1, 2, 3)
B) (1, 2, 4)
C) (1, 3, 4)
D) (2, 3, 4)

15)
R0 T 4 =t & a9 | ¥ fohd aqga =l &1 0% 998 & €9 § a¥(i6d a7 ST 9dT 872
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A) (1, 2, 3)
B) (1, 2, 4)
C) (1, 3, 4)
D) (2, 3, 4)

16) Which of the following options is the mirror image of the given figure?
y

T 5
\_ \\ Y
C) \ \
\ ‘K "'.,
hY
LY
.'rl
"""._ .-": Y
h )
D) / h,
" / 1y

16) A & ¥ ®la @ fr v mF $ir gdor sm e

i

LSS

r

i

0/ [/

)
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17) Select the alternative that will replace the question mark in the given analogy.
Lion : Den :: Honey-bee : ?

A) Meadow
B) Holes
C) Hives

D) Burrow

17) 38 Tdheq ol T+l < Si U 1T A1eT H 52T fes 1 giaeanid siem|

%N:a;rcmzzaﬂrgﬂ?@r:?

A) aRTeTTE
B) fyer
C) =ar

D) mig

18) A train moving at a speed of 54 km/hr crosses a pole in 10 seconds. How long will it take for
the same train to cross a bridge of length 150 m?

A) 20 seconds
B) 25 seconds
C) 30 seconds
D) 40 seconds
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18) 54 km/hr & 3T F Tl Teh ¢oT 10 THS H Teh Uil ol IR cll ¢ | SHT ¢oT T 150 m &fdTS arel
Tl T IR el H fohcToll THT SN2

A) 20 TS
B) 25 Qs
C) 30 ks
D) 40 @as

19) What is the next term in the given series?
The series is 331, 331, 662, 993, ?

A) 1224
B) 1324
C) 1436
D) 1536

19) & 915 H G # 37aTell HEAT AT §?
@ §: 331, 331, 662, 993, ?

A) 1224
B) 1324
C) 1436
D) 1536

20) If x% of x is 900, then the value of 4x is

A) 3600
B) 2400
C) 1200
D) 6000

20) e X T x% 900 §, T 4x T AT fhd=lT gRI?

A) 3600
B) 2400
C) 1200
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D) 6000

21) What is the coded number for WNCSZV that can be inferred from the following image?
LETTER:CZNVRSWFD

CODEDIGIT:864729351

A) 348267
B) 318267
C) 348957
D) 348967

21) WNCSZV & oIt s seer d&ar a1 gl St [T T @ 31eTATe ofammar ST Hehell 82
LETTER:CZNVRSWFD

CODEDIGIT:864729351

A) 348267
B) 318267
C) 348957
D) 348967

22) To appear for an exam P, at least three out of these four conditions are to be satisfied:
1) At least 60% marks in 10th.

2) At least 55% marks in 12th.

3) Age more than 18 years.

4) Weight more than 60 kgs.

To appear in exam Q, at least two out of these four conditions are required:

1) At least 70% marks in 10th.

2) At least 50% marks in 12th.
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3) Age more than 17 years.
4) Weight more than 50 kgs.

Lata has 45% marks in 10th and 34% marks in 12th. She is 15 years old, and weighs 64 kgs. For
which of these exams is she eligible?

A) Only P

B) Only Q
C)Both P and Q
D) Neither P nor Q

22) Tsh TG P & 3UTEY 811 & [T, goT TR il F F st & e it et I gl =g T

1) 10T # &H & FHH 60% 37|
2) 1241 H A H HH 55% 3|
3) 3 18 a¥ & 3ifereh|
4) FoTT 60 kgs & 3T+ |

eI Q H 3UTEY 8lel o ToIT, 57 IR LUl & & el A e &I TS o

1) 103t & &H & HA 70% 37|
2) 124f H e H T 50% 3|
3) 3G 17 a¥ 4 31|
4) gt 50 kgs & 3Tl

oIdT o 10dT H 45% 31 &, 12 df 7 34% 37 ¢ | ag 15 ATl FI &, 3R 3T aoleT 64 kgs g1 S8 &
fore TieT & forv ag JeT 87

A) Faer P

B) &haer Q
C)p 3R Qamt
Daarp3ikadrQ

23) To appear in an exam P, at least three out of these four conditions are to be satisfied:
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1) At least 60% marks in 10th.
2) At least 55% marks in 12th.
3) Age more than 18 years.

4) Weight more than 60 kgs.

To appear in an exam Q, at least two out of these four conditions are to be satisfied:

1) At least 70% marks in 10th.
2) At least 50% marks in 12th.
3) Age more than 17 years.

4) Weight more than 50 kgs.

Radha has 61% marks in 10th and 52% marks in 12th. She is 21 years old and has a weight of 74
kgs. For which of these exams is she eligible?

A) Only P

B) Only Q
C)Both P and Q
D) Neither P nor Q

23) Ueh 1ETT P #H 3UT8Ud g1at o T, 37 IR Al 7 @ A ¥ A ciiet 2t g glelr =nige:

1) 103t # &H & FHA 60% 37h|
2) 124f H e H T 55% 3|
3) 31g 18 a¥ & 3ifEe |
4) gt 60 kgs & 3|

eI Q H 3UTEYT Blel o ToIT, 57 IR LUl & T el A e &I TS o

1) 103t # &H T FHA 70% 37|
2) 124f H e H T 50% 3|
3) 3G 17 a¥ A 3ifee |
4) gt 50 kgs & 3|

T & 1097 7 61% 37k g, 1247 & 52% 37 ¢ | a8 21 ATl I § 3R 3TT doif 74 kgs g1 518 & ford
78T & forw ag e g7

A) Faer P
B) %ae1 Q
C) p 3tk Q =t
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Daarp3ikadQ

24) To appear in an exam P, at least three out of these four conditions are to be satisfied:
1) At least 60% marks in 10th.

2) At least 55% marks in 12th.

3) Age more than 18 years.

4) Weight more than 60 kgs.

To appear in exam Q, at least two out of these four conditions are to be satisfied:

1) At least 70% marks in 10th.

2) At least 50% marks in 12th.

3) Age more than 17 years.

4) Weight more than 50 kgs.

Sarang has 75% marks in 10th and 64% marks in 12th. He is 22 years old, and has a weight of 67
kgs.

For which of these exams is he eligible?

A) Only P

B) Only Q
C) Both P and Q
D) Neither P nor Q

24) Teh q{&T P H 3G Blel & TolU, $o7 TR A H § A § & ciled A QU Gleil 1B T:
1) 104t # H A HH 60% 37 |

2) 12T H A H HH 55% 3 |

3) 315 18 ¥ 4 3 |

4) goteT 60 kgs & 378 |

eI Q H 3UTTUT 8let & ToIT, 37 IR Ul & & T A e af TS &
1) 10 & H e T FH 70% 3 |

2) 12 &t # &H A A 50% 37 |

3) 3Mg 17 9§ 4 31 |
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4) gaTeT 50 kgs & 3Tl

HRET T 10 dF H 75% 37k 8, 12T 7 64% 37k & | 98 22 TTel T g, HR 3HHAT dold 67 kgs &1 SAH &
forg qdieTr & foIw ag IRvT 872

A) Faer P

B) &haer Q

C) p 3k Qaat
Daarp3iRad&Q

25) A figure is given on the left with a pattern. Observe and find out which of the three images on
the right looks similar to the right half of the pattern on the left?

A1l
B) 2
C)3
D) Both 1 and 2

25) a1 31X e Yeot Afgd U R foar o §1 earerqdes af@u 3R w1 Hifere & e 3k & et st
H I PieT T 918 AR & Yo & gliget 3T ged o AT fg@dr g2
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A) 1
B) 2
C)3

D) 1 3ik 2 &t

26) Which of the given option will NOT share the same property as the elements of the given set?

Mouse, Keyboard, Printer

A) Scanner

B) Tennis

C) Monitor

D) Web Camera

26) f&T 91T faehedl & @ leT AT faehod ST JUTETIHTE ol TTAT 6T M Wil (ST AT HE & cled A 872

A) 5t
B) >fyg
C) Affaex
D) d &

27) You are given a pair of statements.

(i) P is an odd number.
(i) Q is an even number.

Pagel70f90



Setld: 61773 _4 Technical Assistant (LAB) - Bio-
Technology BATCH1 180CT2020

Which of the following questions can be answered by using the given statements?

A) What will be the remainder left when (P+Q) is divided by 2?
B) What will be the remainder left when (P+Q) is divided by 3?
C) What will be the remainder left when P is divided by 3?
D) What will be the remainder left when Q is divided by 47

27) 3T9eRT YT T Teh AT &Y 7S B
(i) P U fawer e B

(i) Q U TH TEAT ¢ |

feT ITT FUAT T IYIT T ed F A g w1 &1 3R AT 7 FehelT £2

A) Je (P+Q) I 2 A TaenTora foham ST § ar Aol &/ gram?
B) St& (P+Q) &1 3 & fasnfora fora Siram & ar QA9thel &m g1
C) St& P &Y 3 & faanfara foram Siram & Y A9thel = gl
D) St& Q 1 4 & e foram ST & aY Aol =T grem?

28) You are given a statement.
Statement: P is a prime number.
Which of the following questions can be answered by using the given statement?

A) Is P divisible by 2?
B) Is P divisible by 3?
C) Is P divisible by 472
D) Is P divisible by 5?

28) 39! Uah 2+ far T § |
$UT: P Teh AT TEAT & |

T 37T FUT T 3T Flah AT H T T A U2T T 30X AT ST bl 87

A) Farp, 2 O faueT &2
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B) w2 P, 3 @ Ao &7
C)aarp, 4 @ fassg &2
D) & P, 5 @ o= &7

29) 68% of the students passed in an examination. If the number of students who failed are 256,
then the total number of students who passed are

A) 544

B) 623

C) 800

D) 657

29) T TET & 68% faemt 3ol gU| R 3reeioT et it wear 256 &, d <ot et
T F&AT fahdalr 82

A) 544
B) 623
C) 800
D) 657

30) Harini's mother is Jeevan's father's only daughter. How is Harini related to Jeevan?

A) Sister

B) Mother
C) Daughter
D) Niece

30) g 1 AT Sliaet & far i swhelldr 31 &1 g 1 Shast & F7ar Heer g2

A) sger
B) &t

C)adr
D) sriair
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31) Three among the four options mentioned below belong to the same class or group. The odd
one out is

A) Square
B) Cube
C) Pyramid
D) Cylinder

31) e T 10 IR faeheq & 8 il U & 997 AT o & HaTd & | ST & I BisT AT 87

A) TFaRR
B) o

C) RifAs
D) Rreiv=t

32) Which answer figure will complete the pattern given in the problem figure?

Problem Figures: Answers Figures:
(A) (B) © (D) (1) ) (3) C))
A1l
B) 2
C)3
D) 4

32) @leT HT 3T TSI &F a1 HHAEAT DT o Yot T I HYaf?
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Problem Figures:

OB

Q

Answers Figures:

(A) B

©

®)

P

<P

P

$

¢)

(2)

3)

C))

33) Among the given group of 4 images, which set of images can be classified as a

group?

A) (1, 2,3)
B) (1, 2, 4)
C)(1,3,4)
D) (2, 3, 4)

33)

R0 T 4 =T & 99 | 9 e 9qga =l &1 UF 998 & &9 § a¥(6d a7 i1 9dT 872
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A) (1, 2, 3)
B) (1, 2, 4)
C)(1,3,4)
D) (2, 3, 4)

34) Identify the mirror image of PS8R17L3.

A) E1VTA8EH

B) £14148Sd
C) EYArHdseq

D) €4711H8Sd

34) PS8R17L3 &Y Yo SmE i Ugdard &Il

A) £1VTA82H
B) £1.148Sd
C) EYdrHdsceq
D) €471148Sd

35) Select the alternative that will replace the question mark in the given analogy.
Algeria : Algiers :: Austria : ?

A) Kabul
B) Tirana
C) Suva
D) Vienna

35) 3 fashed T T Y ST ST 31T AT H U2 [T &l afaeariid S|
e IRAT : ooty == 3T : ?

A) g
B) formem
C) g
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D) e

36) The value of a car depreciates at the rate of 8% per annum. What will be the price of the car
after 2 years, if the current worth of the car is ¥ 3,00,0007?

A) 376510
B) % 342170
C) % 285640
D) % 253920

36)
T FTX HT G ITda9 8% il & & 5 FTAT gl 2 FTA d18 HT HT ToF FAT g1 ITS THHT FqHT o7 I
300000 g?

A) 376510
B) % 342170
C) % 285640
D) 253920

37) The next number in the series is:

6, 20,42,72,7?

A) 100
B) 102
C) 110
D) 112

37) #@eT 7 39Tel HE&AT HisT AT §2
6, 20, 42, 72, ?

A) 100
B) 102
C) 110
D) 112
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38) The next number in the series is

582, 586, 595, 611, ?

A) 636
B) 654
C) 670
D) 688

38) ATl 7 3TaTell HEAT hieT &1 g2

582, 586, 595, 611, ?

A) 636
B) 654
C) 670
D) 688

39) A cricketer's average score in 10 innings was 36. In his 11th innings, he scored some runs
because of which his average increased to 40. What was his score in 11th innings?

A) 40
B) 50
C) 70
D) 80

39) 10 UTRAT & T fohehe T 3T TR 36 AT| AT 11 IR A 37 FS ToT ST, fTEh HROT
3T 3T SEHT 40 8T IT| 1187 IRY 3 3TFT ThIX FAT AT?

A) 40
B) 50
C) 70
D) 80

40) If 'bcd’ is written as ‘def’, then what is the code for ‘true’?

A) dcek
B) kpuz
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C) vtwg
D) fimw

40) T 'bed' @1 'def’ & &9 H fr@r /=T 8, & 'true’ & fIT fHe &7 gram?

A) dcek
B) kpuz
C) vtwg
D) fimw

41) A figure is given on the left with a pattern. Observe and find which of the three images on the
right looks similar to the top half of the pattern on the left?

1 2 3

A1l
B) 2
C)3
D) Both 1 and 2

41) TS 3R U et & AT T O &1 915 § | earerqass SfAw 3R A1d fifore ik ars 3R & e et
H T o7 a1 a1 3N & oot & M 3 Red & gA= fe@ar g

1 2 2

A) 1
B) 2
C)3
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D) 1 3tk 2 &t

42) Which of the following options will NOT share the same property as the elements of the given
set?

ADG, CFl, BEH, DGJ

A) MPS
B) NQT
C) LNQ
D) RUX

42) FAF=fafed # & s a1 fasheq T a7 Ae & dedl & S 0T T HTST 6T M2

ADG, CFl, BEH, DGJ

A) MPS
B) NQT
C) LNQ
D) RUX

43) You are given a statement.
Statement : Circle P has a radius of more than 6 cm.
Which of the following questions can be answered by using the given statement?

A) What is the diameter of P?

B) What is the area of P?

C) Can a square of side length 15 cm completely lie inside P?
D) Can a square of side length 2 cm completely lie inside P?

43) 3R Uah 2T fear =T § |
YT Id P &1 416 cm ¥ 317 &

few 31T U FT 3T Flah AT H T FT 9T 1 31 f&am 31 Fepar &7
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A) P & TIg FITE?

B) P & aawe FaT E?
C)

D)

T 15 cm TS hT TS aTell Ueh HHRIOT TeTeT P & e U e & e g7 Hevarr 87
T 2 cm 1 HI TFETS aTell WW@@P%W@W?W?W%

44) The combined age of Alex and Charles is 12 years more than the combined age of Reeta and
Charles. 18 years ago, Alex was three times as old as Reeta. The present age of Reeta is

A) 24 years
B) 26 years
C) 28 years
D) 30 years

44) Treg 3R AT i HYeFT 3 T AR Ao T HFercd 3 F 12 T 3118 §| 18 ATl T8,
Tolerd Il & et T[T SATET 33 1 AT| AT T TAATH Y fhceh g2

A) 24 T
B) 26 a¥
C) 28 ¥
D) 30 af

45) Rahim is the son of Rehan, who is the son of Sana. Sana's daughter has only one child,
Shahrukh. How is Rahim's sister related to Shahrukh?

A) Uncle
B) Aunt
C) Mother
D) Cousin

45) IETH, YGT FT ST &, ST AT T 9T & | HaAT ST SCT bl chd ol Ush ST &, MEW | TETH T dgeT
BT H hdl FTAT 67

A) Trar
B) =i
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C) At

D) 7338y 58T

46) 4 means 'is the sister of', 5 means 'is the mother of' and 2 means 'is the brother of'. The relation

isexpressedas X2Y,Y5Z,Z4 N, and N 2 L. Which of the following statements is valid for the
given relation?

A) L is the son of Y

B) N is the daughter of X
C) N is the brother of X
D) Y is the mother of L

46) AFT TG T SgaT g, SR INT g P AT IR 2FI TG FIASE I FEFT R X2Y, Y527, Z4 N,
IR N 2 L & &9 & sgard fFar ram & | Feafaf@d & @ i a1 s few arv gey & fav g g?

AYFIILE
B) X fradrN g

C)XAramsNg
D)Lfraryd

47) Three of the four choices mentioned below belong to the same category or class. Find the odd
one out.

A) Lionel Messi

B) Cristiano Ronaldo
C) Dani Alves

D) Paul Walker

47) 7 feu a7 AR faheal 7 & i Tes &7 Aol J7 997 & § | 347 F 3G AT DIV

A) foriarer A
B) fhfeeama Asrest
C) gofa 3reaw

D) gfer atet

Page280f90




Setld: 61773 _4 Technical Assistant (LAB) - Bio-
Technology BATCH1 180CT2020

48) Given below are some of the different views of a dice. What would be the number opposite to
the number 4?

A) 9
B) 5
C)7
D) 6

48) T Teh I & [affieet ¥ ST a0 § | T&aT 4 & AU ueT &t g &1 giefr?

2 > .

8
6 7
:

A) 9
B) 5
C)7
D) 6

49) Among the given group of 4 images, which set of images can be classified as a group?

1 2 3 4

A) (1, 2, 3)
B) (1, 2, 4)
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C)(1,3,4)
D) (2, 3, 4)

49)
faw w4 ==t ® &, ==t % g a9ga 91 uF 998 | a9iiga a1 S aaar 82

A) (1, 2,3)
B) (1, 2, 4)
C)(1,3,4)
D) (2, 3, 4)

50) Find the odd one out.

A)

o[

-

D)

!

N

50) faw# A1 FIfST]

A)
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B)

C)

b

D)
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Section 2 - English Language

No. of Questions: 50

51) Identify the Antonym for the word - pitfall

A) Safeguard
B) Danger
C) Monitor
D) Inaction

52) Choose the correct article to complete the sentence:
Every Sunday Joan goes to church.

A) No article required
B) an

C) the

D) a

53) Identify the error in the following sentence. The error, if any, will be in one part of the sentence,
the number of that part is your answer. If there is no error, mark your answer as (D).

(A) I always go to / (B) seeing a film/ (C) on Friday evenings./ (D) No Error.

A) A
B) B
C)C
D) D

54) Choose the best meaning of the underlined idiom in the sentence.
The friends meet each other once in a blue moon.

A) for a short time

B) once in a while

C) under the blue moon light
D) during the full moon

55) Fill in the blank with the correct pronoun:
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| lost the pen | bought yesterday.

A) that
B) whom
C) where
D) who

56) Fill in the blank with correct option:

| parked my car a tree and went in search of my dog.

A) between
B) over

C) above
D) under

57) Fill in the blank with correct option:

She hid the letter a pile of papers.

A) over

B) among
C) beneath
D) with

58) Choose a suitable option to complete the sentence:
His father is very proud of his

A) failure

B) downfall
C) success
D) misfortune

59) Identify the Compound sentence.

A) There is no magic formula for success.
B) He is a family friend.
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C) He lost the next page of his speech and floundered for a few seconds.
D) George and Harry are good friends.

60) Choose the word that is correctly spelt.

A) Descrete
B) Discrite
C) Discrete
D) Diescrete

61) ldentify the correct Synonym of the underlined word:
They invited me for dinner and | thought it would be churlish to refuse.

A) Polished
B) Rude

C) Polite

D) Courteous

62) Identify the correct Synonym of the underlined word:
I don't think you understand the gravity of the situation.

A) Usefulness
B) Cheerfulness
C) Calmness

D) Seriousness

63) Fill in the blank/s with the correct form of the verb given in brackets:

My mother never (curse) anyone during her lifetime.

A) cursed

B) curse

C) will curse

D) will be cursing
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64) Fill in the blank/s with the correct form of the verb given in brackets:

I (decide) to complete this work by the end of the day.

A) am to deciding

B) will decides

C) had been decided
D) decided

65) Choose the correct verb to complete the sentence:
She was chosen for the role because she very well.

A) sings

B) was singing
C) is singing
D) will sing

66) Choose the correct verb to complete the sentence:
He the article last night.

A) writes
B) written
C) wrote

D) will write

67) Identify the Antonym for the word - analogous

A) Different
B) Similar
C) Digital
D) Manual

68) Choose the correct article to complete the sentence:

They went for a holiday to _ Andamans.

A) a
B) an
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C) the
D) No article is required

69) Identify the error in the following sentence. The error, if any, will be in one part of the sentence,
the number of that part is your answer. If there is no error, mark your answer as (D).

(A) Our new sofa / (B) don't fit / (C) through the door. / (D) No Error.

A) A
B) B
C)C
D) D

70) Complete the sentence with the correct phrase.
The Indian athlete won the gold medal because he ran

A) for great speed
B) at top speed
C) on great speed
D) in great speed

71) Choose the meaning of the underlined idiom in the sentence.

She acted professionally by keeping the terms of her contract as she did not want to burn bridges
at her old job.

A) to close the way backward
B) to close the bridge

C) to break the barrier

D) to start all over again

72) Fill in the blank with the correct pronoun:
The jury is not ready with verdict.

A) his

B) its

C) their
D) her
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73) Fill in the blank with the correct pronoun:
Please listen to he says.

A) what
B) that

C) which
D) them

74) Fill in the blank with correct option:

The tunnel goes right the city.

A) between

B) over

C) above

D) underneath

75) Choose the correct option to complete the sentence:
The boy always does as he is told.

A) careless
B) naughty
C) indolent
D) obedient

76) Choose the correct option to complete the sentence:

She had to take rest, because she was after the climb.

A) excited

B) elated

C) bored

D) exhausted

77) ldentify the Complex sentence.

A) The radio started to crackle.
B) The logs crackled and popped in the fireplace.
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C) An elderly couple lives next door.
D) When | was younger, | could stay up all night.

78) Choose the word that is correctly spelt.

A) Ambivelence
B) Ambivaylens
C) Ambivaelance
D) Ambivalence

79) Choose the word that is correctly spelt.

A) Questionnaire
B) Questionaire
C) Questionnair
D) Questionnairre

80) Identify the correct Synonym of the underlined word:

He was dressed scantily.

A) Successfully
B) Inadequately
C) Sufficiently
D) Ideally

81) ldentify the correct Synonym of the underlined word:
A decrepit old man sat on a park bench.

A) Clumsy
B) Frall

C) Happy
D) Tall
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82) Fill in the blank/s with the correct form of the verb given in brackets:

Samuel (complete) his postgraduation and soon (leave) for the US.

A) completed, leaves

B) has completed, will be leaving
C) will complete, will leaves

D) completed, lefts

83) Fill in the blank/s with the correct form of the verb given in brackets:
Ram (go) to be an engineer when he (grow) up.
A) was going, will grow

B) goes, grew

C) will go, grows

D) is going, grows

84) Choose the correct verb to complete the sentence:
The garden is now better kept than it last year.

A) was
B) is

C) were
D) has

85) Choose the antonym of the underlined word.
Visiting Rajasthan during the summers will give rise to chagrin.

A) Exasperation
B) Pleasure

C) Mortification
D) Vexation

86) Choose the correct article to complete the sentence:
He drives his car at 60 kilometres hour.

A) a
B) an
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C) the
D) No article required

87) Choose the correct article to complete the sentence:
May | have pleasure of your company?

A) a

B) an

C) the

D) No article required

88) Identify the error in the following sentence. The error, if any, will be in one part of the sentence,
the number of that part is your answer. If there is no error, mark your answer as (D).

(A) The temperature are / (B) expected to be in / (C) the eighties tomorrow. / (D) No Error.
A) A

B) B

Cc)C

D)D

89) Choose the meaning of the underlined idiom in the sentence:

Ronaldo kept a stiff upper lip all the time while he was being treated in the hospital.

A) showed off

B) showed joy

C) showed courage

D) showed reservations

90) Choose the Pronoun in the given sentence:

To whom should | write?

A) to

B) should
C) write
D) whom
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91) Fill in the blank with correct option:

Please put your shoes before you step out onto the stage.

A) for
B) of
C)on
D) in

92) Fill in the blank with the correct option:

the river lies the village of Shantipur.

A) On

B) After
C) Before
D) Beyond

93) Choose the correct option to complete the sentence:
The accountant after he was accused of fraud.

A) rejoiced
B) remained
C) resigned
D) receded

94) Choose the correct option to complete the sentence:

His career is by his careless attitude towards work.

A) effected
B) affected
C) flourished
D) spiraled

95) Identify the Compound sentence.
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A) She mumbled something about being too busy.
B) These exercises build muscle and increase stamina.
C) He was muttering to himself.

D) Unfortunately some poisonous mushrooms look like edible mushrooms.

96) Choose the word that is correctly spelt.

A) Disseminate
B) Dessiminate
C) Desseminate
D) Desiminate

97) ldentify the correct synonym:
Avid

A) Uninterested
B) Keen

C) Indifferent
D) Submissive

98) ldentify the correct synonym:
Eloquence

A) Attention

B) Humbleness
C) Delusion

D) Fluency

99) Fill in the blank/s with the correct form of the verb given in brackets:

He (explain) the rules several times but | did not understand them.

A) explained

B) is explaining

C) will explain

D) will be explaining
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100) Choose the correct verb to complete the sentence:
The Bond movie, 'Die Another Day' is tonight.

A) premier

B) premiering

C) been premiere
D) to premiered
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Section 3 - General Awareness

No. of Questions: 50

101) Which yesteryear actress has been conferred the Master Deenanath Mangeshkar Lifetime
Award 20197

A) Helen

B) Asha Parekh

C) Waheeda Rehman
D) Hema Malini

101) T5E 1T a¥ AT I ARCI SIATATY HILMHT ATSHESH 37ATS 2019 H FFATIAT fohdT 31T §72

A) FarT

B) 3mem ur@
C) agrer A
D) g#1 FTfareh

102) Which of the following is NOT a water harvesting system in India?

A) Rojison

B) Khadin

C) Kuhl

D) Surangam

102) FeAT@d & & i T 9RT & STel AGUT YUTTell 76T 672

A) AfSa=T
B) @it
C) et
D) gtaTet

103) Which vitamin is necessary for calcium absorption in the body?
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A) Vitamin-A
B) Vitamin-B
C) Vitamin-C
D) Vitamin-D

103) SRR H HeRRIH & 37aRNYOT & ToIT i AT [aerfdsT 3aede gidr g ?

A) fgerfd=-A
B) Rerif@=-B
C) fyerfasr-c
D) faerf@=t-D

104) In 1953, Andhra Pradesh became the first state in India to be created on the basis of

A) Religion
B) Language
C) Caste

D) Population

104) 1953 &, 3TY 9 ATl i ad & T fohd MR IR IS gled aTell AR T Tgell I ST IAT?

A) g3y
B) st
C) anfa

D) seraear

105) Muga silk is produced in which of the following states of India?

A) Karnataka
B) Rajasthan
C) Assam

D) Chattisgarh
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105) HII YAH T 3cUIe HRd & AT & F ey 77 A glar g?

A) e
B) Irerears
C) sram

D) ot

106) Nataraja, Lord of Dance is a depiction of which Hindu god?

A) Shiva

B) Ganesha
C) Karthikeya
D) Indra

106) T &, #ersT fohd fgwg o & FRITId oid &2

A) frg

B) aoter
C) wifcera
D) &g

107) Which of the following states has the longest coastline in India?

A) West Bengal
B) Goa

C) Gujarat

D) Odisha

107) IRd & AT @d # 8 7T ToT H FH o6l deddr 87?

A) gfes FaTrer
B) afar

C) arorrer

D) 3nfzem
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108) The biggest canal project in India that starts from the Harike barrage at Sultanpur, a few
kilometers below the confluence of rivers Sutlej and Beas is

A) Ganga Sagar Canal Project
B) Mahanadi Canal Project

C) Indira Gandhi Canal Project
D) Son Canal Project

108) R H FoclloTqX H §ieh SRToT H YE Blol dTell HEY T37 76T TRIANSIAT shist AT 8, ST Helorol AR
ST AT & FIH A FS fhell AT gT 51

109) Who was victorious among the following rulers in the Second Battle of Panipat?

A) Akbar
B) Hemu
C) Sher Shah Suri
D) Babur

109) T o GIciar Jeo # far=faf@d amaet & ie fasri g3m ar?

A) 3T

B) &1

C) eReme T
D) are

110) Which of the following Navratnas was responsible for creating the successful land revenue
system for Akbar?

A) Birbal
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B) Raja Man Singh
C) Raja Todar Mal
D) Faizi

110) e # & fohd sTatcst o 3eha o ToIT Aol §1 AT YOTTel! &1 TaehId fehaT AT?

A) S

B) tram AT RiE
C) IreT 2= A
D) thfr

111) As per the Election Commission, in the 2014 general elections, which of the following Indian
states had the highest number of Lok Sabha seats?

A) Rajasthan

B) Maharashtra
C) Bihar

D) Uttar Pradesh

111) AT AT & HAfSh, 2014 &F A FoA1d H, fFr=1{afad SR T3t 7 F ha Tog H
ATRFHAT HIeh AT F&IT a4 31T A7

A) JrerEaT
B) FgrSg

C) faer
D) zav geer

112) EVMs are used in Indian General and State Elections by voters to cast their vote. EVM is an
acronym for

A) Electrical Voting Mechanism
B) Election Voting Machine

C) Elected Voting Member

D) Electronic Voting Machine
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112) HRAT 3MH eATa 3R T Yool H HATH & [T HTCTaT3i S@RT EVM ol 3TN fohar ST 8 |

EVM a1 & & frgerr aRaufl ersg &7

A) safgeee aiféer Ao
B) gorarereT aifear mefer

C) zores afdar AR

D) galereifaie arfear aeier

113) What was the theme of National Science Day 2019?

A) Science and Technology for a Sustainable Future
B) Science for the People and the People for Science

C) Science and Technology for Specially Abled Persons
D) Science for Nation Building

113) IS¢ faaTet fead 2019 &1 Het fawr (2fe) =am ar?

A) o e sifasa & e R 3¢ sl iy
B) Sttt & fore faamet 31k faamer & forw afer

C) Recarar aiatt % e Rramer 3¢ S

D) qree fo#Tor & forw e

114) Who was appointed as the Chairman of the Defence Research and Development
Organisation (DRDO) and Secretary in Department of Defence Research and Development

(DDR&D) in August 20187

A) Dr. Kailasavadivoo Sivan
B) Dr. G. Satheesh Reddy
C) Dr. G. Madhavan Nair

D) Dr. Pravin Kumar Mehta
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114) 319TET 2018 # T&TT 3THT Ud [dehi HardeT (DRDO) o 31egeT 3R &1 3eTHeT= Ud fdehrd
fermer (DDR&D) & Tfa & 9 & 58 fAgerd fohar arar?

A) 3. Femaarieg faae
B) gf. Sit. Trcier {sar

C) 57 . ATergeT AR
D) 5. gefior AR Aga

115) Yogeshwar Dutt, an Indian sportsman, is associated with which of the following sports?

A) Swimming
B) Kabbadi
C) Wrestling
D) Boxing

115) AR QST TeRaR &, eafaf@d # 8 g Ud 9 §efad 82

A) 3

B) Fragar
C) gecht

D) sgerharair

116) Which of the following players is associated with the sport of ‘Wrestling'?

A) Vikas Gowda

B) Shiva Thapa

C) Soumyajit Ghosh

D) Narsingh Pancham Yadav

116) folet & @ T @ D@l FHoelr & Wl @ Ffed 82

A) Tgerrg TilsT
B) fRrar amar
C) glrzaia gy
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D) sfdig gu# area

117) Which Railway Station in India has become the first ever railway station to get Green ISO
Certification from the National Green Tribunal?

A) New Delhi
B) Habibgunj
C) Guwabhati
D) Secunderabad

117) $TRc T shieT AT TeTd T AAeTel IMeT [EsgeTel SaRT Mot ISO THTUT UTe ATell Tgell JoTd TR
e 31T §?

A) 75 Redt
B) getareior
C) agarerér
D) fahexree

118) In March 2019, who among the following was appointed as one of the Managing Directors of
Life Insurance Corporation (LIC)?

A) Nishant Patil

B) Vipin Anand Monday
C) Varsha Sharma

D) Raghu Ram Rajan

118) AT 2019 H, oAt @ & & fher St §1AT [A9197 (LIC) o 9aer TSl & & Teh o &9 &
fegera foar arar?

A) freria wife
B) A=t 311 A2
C) asf erAt

D) vg 11 WreteT

Page510f90



Setld: 61773 _4 Technical Assistant (LAB) - Bio-

Technology BATCH1 180CT2020

119) Usually when a yellow curry stain on the cloth is rubbed with soap, it turns brownish-red. This
is because

A) soap contains an acid

B) curry contains turmeric that turns brownish-red with base present in soap

C) curry contains red chilly powder that turns brownish-red with base present in soap
D) soap does not show cleansing action for turmeric present in curry

119) ATATI: SId U3 W o1 Heofl & ATelel & el 9T &l ATgeT @ WTST AT &, AT T $X-eTeT 1T T
&1 ST &1 I ST glar & F4ife

A)  Ag 7 IFA AT E

B)  Terr 3 5 aYeh & ot et 3 AT ST % s 3 TR S T 47T Y g ST B

C)  areret # et TAT A13sY g1aT § St WG 7 Hlo[g 8T 3 T 3 3T 3X-aTel 137 T 81 STl &
D) et Brers 3 itg g 35 T T AT avee) o T SR 1€ v &

120) Drikold is a refrigerant that uses

A) frozen water

B) solid carbon dioxide
C) solid nitrogen

D) frozen acetic acid

120) f3ores U Ifholie & ST

A) ST T ST T SETATS T &

B) o1 SIeeT SIS3HTATSS T SEAHTST ST &

C) o1 FATSeISTel T SEQHTS LT &
D) 5ot g vfafee 3wa &1 seaaATe aer &

121) Which of the following options is NOT matched correctly?

A) Rights Against Exploitation: Article 20-22
B) Right to Equality: Article 14-18
C) Right to Freedom of Religion: Article 25-28
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D) Cultural and Educational Rights: Article 29-30

121) AT 7 & et A7 Taehod TEY &1 F GAToIT 761 67

A) gireoT & fareeer 31T 3Tede 20-22

B) worar &1 31f0eR: 3rqess 14-18

C) enfier Tacar 1 HfFR: 37esg 25-28

D) wrepfer 3iv fRvam waitht siftrsnR: sregesie 29-30

122) Which Schedule of the Indian Constitution makes provision for division of powers between the
Centre and the States?

A) Sixth schedule
B) Seventh schedule
C) Third schedule
D) First schedule

122) AR GfqerrT Fr foha T # g 3R AT & S ATFAAT & TIHTSTT T Iraen=T 2

A) w8 s

) Tt g
©) ey i
) wEel e

123) Which of the following statements is CORRECT regarding the Sikh Gurus?

A) Guru Ram Das became Sikh Guru after Guru Arjan Dev

B) Guru Tegh Bahadur appointed Banda Bahadur as the military leader of the Sikhs
C) Gurmukhi Script was given by Guru Arjan Dev
D) The birth place of Guru Nanak is Basarke, India

123) T 731t o Tt H HAEATARIT 7 F ol AT HUT T §2

A) IT% A g1, I[F 31T &9 & 16 A 9% §9
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B) 7% qer SrETeR o A & A5 e & w9 7 w1 qgIg 1 fgerd R
C) e fafy I 31otet & &arT &7 =Y o
D) 7% sATeTeh &7 ST TATT 7R H aTEH &

124) Which place is famous for Chikankari, a traditional embroidery style?

A) Ludhiana
B) Lucknow
C) Hyderabad
D) Mysore

124) T AT TATT TheTehT, Toh IR dhers Aell & forw gfiey g2
A)ajﬁmm

B) sr@a=
C) gerare;
D)ﬂ-\qs

125) On which of the following rivers is the Panchet Dam constructed?

A) Damodar
B) Mahanadi
C) Krishna
D) Luni

125) fAeafaf@d & & fFg ¢ W 93a arer &1 AT forar a=ar g2

A) eTAtex
B) wgrerdr
C)Twrr
D) oyt

126) Baralacha La pass connects which two states of India?
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A) Himachal Pradesh and Jammu and Kashmir
B) Himachal Pradesh and Uttarakhand

C) Sikkim and West Bengal

D) Uttarakhand and Uttar Pradesh

126) SSTATAT o &1 HRA & foheT &T AT ST SASAT &2

A) fearerer wieer 3R SRR
B) fe#merer wger 3R 3axr@s

C) rafear 3R afas semer

D) 3er@s 3R 3R e

127) Which civilization deployed the '‘Gurukul system’ for Education in India?

A) The Vedic Civilisation

B) The Indus Valley Civilisation
C) The Mesopotamian Civilisation
D) The Dravidian Civilisation

127) fohE T o AR # 16T & forT "areeher JoTTell” & YR fohar?

A) dfes Tegar

B) fity emér warar

C) Addreriager geaan
D) afas ga=rar

128) Which of the following Governor generals of the East India company introduced the most
controversial policy called 'Doctrine of Lapse'?

A) Lord Curzon
B) Lord Mountbatten

C) Lord Dalhousie
D) Warren Hastings
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128) S¥C ST heAT oh [AFATI AT IR STeieil H & fohde e faargrede Aifa ger fr o, 5a
TAYIT T FHSHTT FgT ST 872

A) dTS ot

B) @if$ AT3cse
C) =its sertsh

D) after gfecew

129) The National Emblem and Seal of the Government of India was taken from the:

A) Iron Pillar, Delhi

B) Ashoka Pillar, Sarnath
C) Qutub Minar, Delhi

D) Sanchi Stupa, Raisen

129) HRA TR T T e 3R 7453 1 gl @ form arar ar?

A) aitg TsT, ool

B) 31eltep TaT, IRy
C) Fqe Fem, ool
D) @ity &1 T, T

130) As per the 44th Constitutional Amendment of 1978, which of the following ceased to be a
fundamental right and remained only a legal right?

A) Right to Work

B) Right to Property
C) Right to Health
D) Right to Privacy

130) 1978 & 443 HaLTTeleh HAT & AR, o=@ 7 & it &1 Hifoleh HTURR o Wt dhaer
leTail JHTURR oo a7 572

A) FHTH & JDFR
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B) gufr & 3R
C) Fareey & 3R
D) fastar &1 3R

131) The launch of Chandrayaan-2, India's second Moon mission was called off by ISRO due to a
technical snag. The rescheduled date on which this spacecraft was successfully launched is:

A) August 15, 2019
B) August 22, 2019
C) July 22, 2019
D) July 15, 2019

131) HRA o GAR TGHAT AR TGITeT -2 o FEITUT & Tehoilenl RIS & SHRUT ISRO GaRT TATNA Y
fem arar am| 54 3TARET 1ot T AHATdS GaTT fhu e i gafruifRe fafdr sle & o

A) 31TEd 15, 2019
B) 3mrea 22, 2019
C) Sers 22, 2019
D) Ferms 15, 2019

132) Identify the software unveiled in 2018, to keep track of punctuality of trains as well as freight
and passenger earnings from anywhere in India.

A) eDisha
B) eConnect
C) eDrishti
D) eRail

132) HART H el T Y ATer 3R I 31T o TTI-ATYT oAl bl FHT FT ITEET U To IWe1 & TolT 2018
H 3ATART fohT 91T ATFCAIR T AT H|

A) §-fem

B) $-araiere

C) $.gfee
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D) & Yot

133) Duleep Trophy is associated with which of the following sports?

A) Hockey

B) Cricket

C) Lawn Tennis
D) Golf

133) faehiw grr FeIfaf@a & & ffa Tor & Tafia g2

A) gty

B) fpdpe

C) siter-2fora
D) airew

134) Which of the following sports is associated with Deodhar trophy?

A) Cricket

B) Lawn Tennis
C) Football

D) Volleyball

134) fasfaf@d 7 & it I1 WoT Saer erhr ¥ Tafad g2

A) e

B) St 2T
C) peater
D) areliaier

135) Which movie won the award in the category of 'Best Documentary Short Subject’ at the 91st
Academy Awards?

A) Black Sheep
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B) End Game
C) A Night at the Garden
D) Period. End of Sentence

135) 919 Tehs#Y 31aTSH H Tohe [thos o 'SEC SIFFAE ATC Heolehe' T AU H RN SATar?

A) soih oftg

B) gz @t

C) 31 aée we g A

D) $ifters. Uz 3itw d=ed

136) The Northeast Frontier Railway (NFR) won the best innovation award in the Indian Railways
for the fiscal year 2018-19. What is the name of the innovation?

A) Nano Ganesh
B) Plan Bee
C) Nanneer
D) Bhungroo

136) YafoR HIATd Yerd (NFR) & faeir a¥ 2018-19 & {7 s Yord &1 93 AquRaciel [EhR
ST §1 39 AQTIR &I =T FT 872

A) Y Trorer
B) camer &Y
C) 7

D) sier

137) "Even a diseased person can donate eyes after death for another person in need." A person
suffering from or expired due to which of the following diseases can donate eyes?

A) Diabetes
B) Cholera
C) Tetanus
D) Meningitis
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137) “Ueh 30T cafercl 3 g o ST, Tohdll GEN SIRcIHE, caferd i 379eiT 31K alel Y Hehell 1"
fAe=tToi@d & & fohg ST @ IEd AT T ik HIW &leT Y Hehell 82

A) mee

B) &=

C) ereyseahm
D) afeass sv

138) Wires carrying electricity should NOT be touched bare footed. This is because

A) the earth has high potential

B) live wire has low potential

C) live wire has high potential

D) wire carrying electricity has infinite resistance

138) forsTell JoFcT R oY =11 U oy HROT A LT el AMMGT?

A) Ft & Rl T Aera 3TT glaT @

B) w2t foh afshar IR ar fasra et glar @

C) #at & afohy dR &7 f3erg sTa glary

D) it o forsTelT et IR T T 3iefet 8ietT o

139) Motilal Nehru and eight Congress leaders drafted a Constitution for India in the year:

A) 1926
B) 1927
C) 1929
D) 1928

139) AT 7Ig% 3R T & 316 AdT3HT o IR & TorT GiFene o1 Fdler fhd av 7 IR fhar a2

A) 1926
B) 1927
C) 1929
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D) 1928

140) The Joint Sittings of the two Houses of Parliament are held in the

A) Speaker's Chamber
B) President's Chamber
C) Central Hall

D) Committee Hall

140) HHe; & Elell Heall T FYFT Soeh Hel AT T STl &2
A) Te &1 T

B) qrseufa &t df )

C) &&ra wver

D) gfafy et

141) The celebration of 'Khordad Sal' marks the birthday of the prophet belonging to which
religion?

A) Sikhs
B) Jains
C) Hindus
D) Parsis

141) 'TleTe, ITer T 3c0d hd 97 & TAIT W & SToATceT Hl Tclleh 872
A) fag
B) 31

O g
D) greey

142) Who launched the 'Shuddhi movement' to reconvert the Hindus who were converted to other
religions?

A) Brahmo Samaj
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B) Prarthana Samaj
C) Arya Samaj
D) Radha Soami

142) 31 gt 7 aRafdd e e g3t o g aRafda seer & fore gefer snerest free & fmar
uqT?

A) SeAT gATS

B) wretar @#TST

C) 3 gATST

D) qrer Ears

143) The highest mountain peak in India is

A) Nanda Devi

B) Kangto

C) Saramati

D) Kangchenjunga

143) 9Rd H FEH 3 9dd AIeT ShieT IY g2

A) e &
B) sharar
C) arraAre

3

144) Match the following leaders in List | with their corresponding famous slogans in List Il

List I List I
(i) Bhagat Singh (@) Do or Die
(if) Mahatma Gandhi (b) Dilli Chalo

(iii) Subhas Chandra Bose |(c) Inquilab Zindabad
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A) ()-(c), (ii)-(a), (iii)-(b)
B) (i)- (b), (ii)-(c), (iii)-(a)
C) ()-(a), (i)-(), (ii)-(c)
D) (i)-(a), (ii)-(c), (iii)-(b)

144) F= | 7 =T A13il & gl || 7 o7 Harerd GTAey AR & |1 7|

i | el
()wafie (@& @rw
(ii) merem et |(b) foett <l
(i) T =7 v |(C) <obera e

A) ()-(c), (ii)-(a), (iii)-(b)
B) (i)- (b), (ii)-(c), (iii)-(a)
C) ()-(a), (ii)-(b), (ii)-(c)
D) (i)-(a), (i)-(c), (iii)-(b)

145) Who among the following revolutionaries was NOT part of the Kakori Conspiracy?

A) Ram Prasad Bismil
B) Bhagat Singh

C) Chandrashekar Azad
D) Keshab Chakravarthy

145) fFafaflad sifdeRAT & & Pl PRI ¥5I7 1 fgear Aar 2?2

A) 31 gaTe fa e
B) st R

C) Teg @y 319TTe
D) srerer Trsharcif

146) Which of the following options is TRUE regarding the tenure of a member of State Public
Service Commission?
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A) A member of State Public Service Commission shall hold office for a term of 10 years from
the date on which he enters his office

B) A member of State Public Service Commission shall hold office for a term of 5 years from the
date on which he enters his office

C) A member of State Public Service Commission shall hold office until he attains the age of 65
years

D) A member of State Public Service Commission shall hold office until he attains the age of 62
years

146) T olieh [T IR & HEET & HIIFIA & R H o1 #§ I FleT T [qhed T 872

A) T ok HaT JTANRT T HeE T AT TG & Tt et & 10 Aol iy 3@ty o forw e ey
Sacll

B) o ol Jar 3T & HeEd 3sh g e & uger ot & 5 A1 Y 319 & fow ug gror aw
b &

C) T @it T 3TET T FEET 65 Y T I deh UG UROT W FehelT ¢
D) Trowr e BaT AT &7 HeE 62 A T Y T TE YT X Hehell &

147) In January 2018, the Union Minister for Earth Science inaugurated the High Performance
Computer (HPC) System named ‘Mihir’ at which of the following places in India?

A) Patna
B) Noida
C) Lucknow
D) Jaipur

147) FE o1-Faaet 7l F R A rAfaf@d 7 @ v wure o Al e & 3= e segex
(HPC) T8ECH T STeTadl 2018 H 3cHIC TohaT?

A) e
B) Arwsr
C) =1z
D)GI?’TCIQT
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148) Shanti Swarup Bhatnagar Prize is one of the prestigious multidisciplinary science awards in
India. Who won the Shanti Swarup Bhatnagar Prize for medical science in the year 2018 ?

A) Thomas J. Pucadyil

B) Ganesh Nagaraju

C) Deepak Gaur

D) Ganesan Venkatasubramanian

148) AT AT AR ERR Wﬁma@ﬁm fariel REPRT A G UhH g a9 2018 H
Rifrcar faamre & faw enfd FawT $eaTR RER e sirar?

A) giE o, g

B) arorer AmeRTST

C) &roes 7k

D) srorerer dercggvast

149) Who won the silver medal in the category of Badminton in the Rio Olympics 2016?

A) Saina Nehwal
B) P. V. Sindhu
C) Sania Mirza

D) Uma Maheswari

149) R 3T 2016 H dsfFe Fr Joft F 670 Ieah [hdel Siar?

A) qrgaT sgarer
B) . &, fRigg

C) arferar faaT
D) 3aT Argeady

150) Who won the 'FIFA Young Player Award' for his performance at the 2018 World Cup?

A) Diego Forlan
B) Paul Pogba
C) Kylian Mbappe
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D) Ronaldo

150) 2018 AR & & 379e) Fe el & Tl "I JIT Tl WER' Tt Sitir?

A) feuai wlelfe

B) qfer gYerar

C) sprsforast trar
D) Qere=
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Section 4 - Techincal Knowledge of Bio Technology

No. of Questions: 50

151) Human chorionic gonadotropin (hCG) is a hormone secreted by the

A) Liver

B) Cytosol

C) Placenta

D) Basal membrane

151) €A IR3HITeleh TMATSICITUT (hCG) Ueh §TAT & Sit fohed FATTA Toham STelm 872

A) B

B) arzerdter
C) SrstisrasT
D) srer el

152) Lactose is a disaccharide compound of two monosaccharides, which are

A) maltose and sucrose
B) fructose and glucose
C) galactose and glucose
D) maltose and glucose

152) oIFeIST g AATHaISS & Ueh SI5hR1SS Aifae &, ST &

A) aAreera 3R I
B) et 3R e
C) At 3R Teqprat

D) Areeia 31k sopiat

153) Excretion of large amounts of glucose in urine in individuals with diabetes mellitus is called as

A) Hyperglycemia
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B) Polyphagia
C) Polydipsia
D) Glycosuria

153) SRATIEST HelcH dTel STFAAT o FHT H Tofehll shl FST HATAT & ScHoiel Sl gl Sl &

A) greaterarSafasm
B) greiihstar

C) qrehfeufaar

) e

154) The cell cycle of eukaryotic cell is divided into four discrete phases. Which of the following
represents the CORRECT order of these phases?

A)Gl1-M-G2-S
B)Gl-S-M-G2
C)G1-S-G2-M
D)G1-G2-M-S

154) FehXANTeeR I fRAehT & HITRAAT Teh &l TR Al TN A fdaiare fohar o | Hefa@a A @
hleT SoT TRUI & HEY sheA I FTATATCT HIAT 872

A)GL-M-G2-S
B)G1-S-M-G2
C)Gl-S-G2-M
D)G1-G2-M-S

155) In eukaryotic cells, the ribosomes are

A) 20S and 35S jointly 60S
B) 60S and 30S jointly 70S
C) 60S and 40S jointly 80S
D) 40S and 50S jointly 90S

155) TR PR, T
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A) 20s 3R 35S TIFT FT & 60S BT &
B) 60 31 30S TYFd ¥ & 70S g1 &
C) 60s 31 40S FgFd ¥ § 80S BT §
D) 40s 31k 50S HgFd ¥ ¥ 90S 1A &

156) In Agarose gel electrophoresis, the migration rate of DNA depends on all of the
following, EXCEPT

A) Agarose concentration

B) Molecular sizes of the DNA fragments
C) Staining the gel with ethylene bromide
D) Conformation of the DNA

156) WITRIST SToT degciehureeelst 3, DNA i JaTdel &X folet # & fohe ol Bisehy, Felt o folei antell
g

A) WIS T FTegdl

B) DNA gast &1 31orfas 3R

C) vRIeNeT 1TSS & T1Y SieT &1 AT el
D) DNA T HHTEIUT

157) RACE is a technique used in molecular biology to obtain the full-length sequence of an RNA
transcript found within a cell. What does RACE stand for?

A) Random amplification of cDNA ends
B) Reverse amplification of cONA ends
C) Rapid amplification of cDNA ends
D) RNA alteration of cDNA ends

157) RACE Teh UEY deheiloh & [oTHhT 3TN AT Siid [dailel & Teh ohIfAhT o 3R 91T STet dTel
RNA Gfdel & qut ofeTs 37eshal sl ATec el & ToIT foham STTdT &1 RACE &7 qUT &9 &1 87

A) {57 TEahenere 3T cDNA Usd
B) Raw vegefthenere 31T cDNA U5
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C) {5 vrgeNihanere 3% cDNA Usd
D) RNA 3fTee¥ereT 3iT% cDNA Ugd

158) Which one of the following enzymes is NOT a restriction endonuclease?

A) EcoRl
B) BamHI
C) Helicase
D) Hindlll

158) fAFATAT@T H | hieT AT UTSH FiAStIcHS TeslegerollUol o161 672

A) EcoRl
B) BamHlI
C) Helicase
D) Hindlll

159) In humans, Single X/XO abnormality causes

A) Turner syndrome
B) Klinefelter syndrome
C) Down syndrome
D) Cri du chat syndrome

159) HISAT H, Tehel X /XO THTHTAAT T HRUT H FT §IaMT?

A) e Rz
B) FFelrgeitheey fOgH
C) 737 faiaar

D) 7 g e Righar

160) Read the following statements and choose the CORRECT option:

(i) In humans the primary lymphoid organs are Thymus and Bone marrow
(ii) In humans the secondary lymphoid organs are Spleen and Lymph nodes
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A) (i) and (ii) are TRUE
B) (i) and (ii) are FALSE
C) (i) is TRUE and (ii) is FALSE
D) (i) is FALSE and (ii) is TRUE

160) eI U=t ol 9 3R FEY Taehod ot

(i) ATt H grafaeh faFwiss 31T, AsAT 3R 3T A g
(ii) FTsAT A facirs foaFwiss 31T, facel 3R fores AT &

A) (i) 3R (i) FET §

B) (i) 31 (i) areret &

C) (i) wér & 3 (ii) T &
D) (i) arerer € 3R (ii) T&r &

161) The transfer of tissues or organs between members of two different species is termed as

A) Autograft
B) Syngraft
C) Allograft
D) Xenograft

161) & 3TI3T-37e13T FSATTAT o TEEAT b S Fcdehl AT 373 & §EATAIOT T FAT gl STl &7

A) 3iferamee
B) e
C) veatamre
D) 2o

162) Which of the following bacteria gives the appearance of ‘Chinese letter arrangement’ or
‘cuneiform arrangement'?

A) Staphylococcus aureus
B) Streptococcus pyogenes
C) Corynebacterium diphtheriae
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D) Mycobacterium tuberculosis

162) A1 f@d # & shiet 1 FFARAT <ol 378N STTEAT AT 'FYFADIH STTEAT T [G@rae &l 52

A) FeThSeltepiend ITRTH

B) ®ecetaiend alelied

C) FIRohTFaRTs Brafie

D) s difies cgaagenfaa

163) Growth medium specially used for the culture of Mycobacterium species is

A) Chocolate blood agar medium

B) Léwenstein-Jensen medium

C) Loeffler's serum slope medium

D) Robertson's cooked meat medium

163) ATSHIGFEIRIH TSATAAT ST T & foIv faAy T & 3uA1eT fohar Siret arer faere Areas Sl
arg?

A) Tidralc salg 39T ATETH

B) S edieT-38sT ATETH
C) NTheRyT BRA TAT ATETH
D) tatwet s #iie Area#H

164) The genes that have become non-functional due to accumulation of severe mutations is
known as

A) Oncogenes
B) Pseudogenes
C) Alpha genes
D) Sticky genes

164) 318X ScURETAT o FET o HRUT IR-HATcH 81 SATeT aTel JATV] Y FohE & H AT ST 872
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A) e
B) wgshes
C) 3o g
D) Rrafaar sheg

165) The type of genetic recombination which occurs between two short and specific DNA

sequences and that does not require extensive similarity in the two DNA sequences undergoing
recombination is

A) Site-specific recombination
B) General recombination
C) Holliday recombination
D) Homologous recombination

165) 37TefdR1eh JoAATeTel T Fehi i &1 DI 3IR fafIse DNA 37efshar & e gl & 3R 5 a
YAEGYSIeT & ISt aTel & DNA 3eIshal & caTdeh GHTA & 3TaRIhdl IgT Bicll &

A) wrse-fafirse qerdaiersT
B) Sere it

C) gifors gerdiiater

D) g gerastet

166) PCR is a technique to make multiple copies of specific DNA region in-vitro. This technique
relies on DNA primers and the enzyme

A) Taqg Polymerase
B) Taq Synthetase
C) DNA Helicase
D) DNA Ligase

166) PCR 31-faer & faferse DNA &1 &1 &5 ufaar a1et &7 Ueh daheilsh §| I§ debeileh DNA USRI
AR fFa vameH W e e &7

A) Taq drelaST
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B) Taq figew
C) DNA gforra
D) DNA gt

167) A method for separating biochemical components often macromolecules from complex

mixture based on a highly specific biological interaction such as between antigen and antibody is
termed as

A) Polymerase chain reaction

B) Nuclear magnetic resonance spectroscopy
C) Agarose gel electrophoresis

D) Affinity chromatography

167) Sig AT TIeh el I 3Tl el o [oIT Teh AT 37X 31T [aferse Sifaes 3ia:fohar & 3maR oX
Stfee fAsoT & ggev] S Tfdstel iR Tfaedl & e & gich §1 38 gl ST &

A) il o7 R

B) el A Yot TRy
C) 3R T SAFIBRIR

D) efnfer Faeramt

168) In the eukaryotic cell, oxidative phosphorylation takes place in

A) Lysosome
B) Golgibodies
C) Mitochondria
D) Nucleus

168) GehRATTEeh AT 7, JHTFATSTET BREBINOTHIUT e GIelT 57

A) srgaraTeE
B) aeafardier
C) arsareifzar
D) sgfereraa
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169) Which of the following enzymes is known as the clearing factor?

A) Esterase

B) Lipoprotein lipase
C) Phosphatase

D) Protein kinase

169) AT f@d 7 & T USTSH I FTIRIT e gl ST 872

A) e

B) foaIorée arsug
C) wremea

D) 9éet shrsar|

170) The main function of microtubules in the cytoplasm of the cell is

A) Cell division

B) Generating ATP
C) Autophagy

D) Cellular respiration

170) hITRIHT & HIRAAT Ged H FeHATAIRT T HET HY 4T §?

A) hYTRIRT TeTTsTaT
B) ATP 3t et
C) Targesidr

D) ;I g

171) The M checkpoint during cell division ensures that

A) DNA damage has been repaired
B) sufficient growth of cell has occurred

C) all chromosomes have been replicated and that replicated DNA is not damaged
D) all the sister chromatids are correctly attached to the spindle microtubule
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171) ITRYeAT TAHTSTeT o SRTT M Aehearge T G fRed siar 2

A) DNA TR FAFAT Hr s e

B) s & wxicd gefr gs &

C) st ot &1 wfaefer g1 o2 & 3R wfaesfer foram arar DNA aforerea 16T &
D) w3t foreex iRt 7% Garafoa S T TT A IS UL

172) Read the following statements and choose the CORRECT option:

(i) Diffusion is the movement of a substance from an area of high concentration to an area of low
concentration

(i) Osmosis is the movement of water through a partially permeable membrane from an area of
higher concentration to an area of lower concentration

A) (i) is TRUE and (ii) is FALSE
B) (i) is FALSE and (ii) is TRUE
C) (i) and (ii) are FALSE

D) (i) and (ii) are TRUE

172) AT Y=t & 9¢ 3R TEr fahed a1

(i) TR, 3T AigdT dTel 817 & e TlgdT arel 817 H fohdr gery fr afa g

(ii) IRTEROT, 3T TG aTel 815 ¥ el HigdT drel 817 & Ak & T URIFT el & ATCIH J 9T
Hrafa g

A) (i) Tér & 3R (i) TereT &
B) (i) arerer & 31 (ii) T &
C) (i) 31 (i) T &

D) (i) 3 (i) wéT &

173) The child's blood group is O. The blood group of the parents could be:

A) Aand B
B) AB and A
C) AB and AB
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D) AB and B

173) S &1 {oFd HHE O & | ATT-TIAT ohT Tehcl HHg FAT &1 Hebell 572

A) Aand B

B) AB and A
C) AB and AB
D) AB and B

174) The most important example of point mutation in humans is

A) Sickle cell anemia
B) Klinefelter syndrome
C) Night blindness

D) Down syndrome

174) FTsaY 7 g ScaRacleT T Fa& Ageaqol 3ETeX0T &

A) il SITRIEAT 3R
B) FFelrgeitheey fO9H
C) ¢afefr

D) g3+ féig#

175) When there is addition of one or many or entire sets of chromosomes, the condition is known
as

A) Euploidy
B) Aneuploidy
C) Genotype
D) Phenotype

175) STe JUTHAT T Teh AT 3 AT R A A ST SI1dT & 36 AT &l e §9 7 S1=A1 A1 82

A) Feeirser
B) sergeeirssy
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C) Sherersa
D) Rhetrersy

176) If under a given environment both members of a twin-pair develop the same phenotype the
twins are said to be

A) Monozygotic twins
B) Fraternal twins

C) Concordant

D) Discordant

176) T Fre fET 7T ATATaROT & g Glell SI5aT-Siisl & HeEd Ueh 81 laTUrHATSE faehfad d § ot

SISl T el STl §

A) THgIHST THST
B) gfasmsst gest
C) oS
D) Srqate

177) The predominant type of immunoglobulin secreted by the B lymphocytes of the Gut in humans
is

A) IgG
B) IgA
C) IgM
D) IgE

177) AT H 3T & B fIFpIATsed SaRT Fifad glel arell Jd YehR HT g7gA1Icilsg felel g

A) IgG
B) IgA
C) IgM
D) IgE

178) The secretory immunoglobulin present in the human breast milk is

Page780f90



Setld: 61773 _4 Technical Assistant (LAB) - Bio-

Technology BATCH1 180CT2020

A) IgM
B) IgA
C) IgG
D) IgD

178) AT Elel & gt H Hislg drdY sFgATcilsg oo §

A) IgM
B) IgA
C) IgG
D) IgD

179) A substance that facilitates the phagocytosis by coating the foreign particles is

A) Interleukins
B) Interferons
C) Perforins
D) Opsonins

179) Ueh gerd, St fagelt-auit &1 sifdar sk thanrarselfarg i giaer & §

A) Sexegfr
B) seximie
C) wifea
D) sftcaifea=a

180) The tool in recombinant DNA technology in which fragments of DNA from one organsim can
be taken up by a second organism is

A) Transformation
B) Transduction
C) Translation

D) Transcription
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180) YeT: YTk DNA Fiefavehr 7 3ueheor fSae Teh sfiad & DNA & gehs 1 g8 Siid gaRT foram S
Hehll &

A) aRad=
B) urareet
C) 3pere

D)aﬂﬁ'{aﬂ

181) Widal test is a type of

A) Slide flocculation test
B) Tube flocculation test
C) Tube agglutination test
D) Latex agglutination test

181) GS3Tl CFC Ueh YohR &l

A) TS FelTeFgereleT TFT &
B) aw weilgeie e &
C) cge wraqfeares e §
D) e woeffeater e &

182) One who has recovered from the disease and continues to harbour the pathogen in his body
isa

A) Healthy carrier

B) Convalescent carrier
C) Paradoxical carrier
D) Contact carrier

182) @8 St START & 3% ohl § 3R 3h AR # NITSTeTehi T T AT SR &

A) FaEy atEsh
B) qe1: Taree ured argeh
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C) faremsre aresh
D) Tus argsh

183) Which of the following factors does NOT affect the growth of bacteria?

A) Oxygen

B) Shape of bacteria
C) Carbon dioxide
D) Temperature

183) TAFATATET ST F & leT AT SFERAT T Jefer hr FoATfIe FET L g2

A) 3iterdiereT
B) de&IRa &1 3R
C) sree Sre3iieraes

D) araarer

184) Name the most commonly used thermostable DNA polymerase during the Polymerase Chain
Reaction (PCR).

A) Tag DNA polymerase
B) Baqg DNA polymerase
C) Terminal transferase
D) DNA gyrase

184) Gl I RUaeT (PCR) & gRTT A 3118 STAAT 8lel aTell AATECTT DNA el
ST J1ST|

A) Taq DNA Grel#aeT
B) Bag DNA aYeli#aet
C) efffeTer ermemid
D) bNA TEE
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185) The enzyme-mediated chain termination method of DNA sequencing was developed by

A) Frederick Sanger and Andrew Coulson
B) Allan Maxam and Walter Gilbert

C) James Watson and Francis Crick

D) Rosalind Franklin and Maurice Wilkins

185) DNA 3eIshH0T I UsTTsH-#3Ues <AeT efiiere fafer fohareh garT fashf@e v a1g o2
A) haRe IR T3 UF FI3eldsT

B) TereT AFEH TS dreet Aieae

C) g &g Us wifay freh

D) tfafes $hideret ts AlE fAfcwa

186) Split genes with intervening sequences are called

A) Variable genes
B) Exons

C) Introns

D) Non-sense genes

186) GEAETT YeA ATel JTeTshd o AT TIHTTST TRITUT T el ST &
A) aftuaer shew

B) wrat-a

R

D) ster-8=a shea

187) Which of the following is a type of correlation, when the amount of change in one variable
does not bear a constant ratio to the amount of change in the other variables?

A) Negative correlation
B) Partial correlation

C) Linear correlation

D) Non-linear correlation
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187) f#=1TaIT@d H & et AT Teh Yeh T HEHY &, 516 Teh T 3 TR I AT gl T H gRaclel
BT AT & TUTAY T T T =TLT Rl &2

A) FhRTcHS TgHaT
B) 31iftr wewayr
C) X wegay
D) 3n&hg ggdser

188) A graphical statistical tool in which a circle is divided into a number of sectors such that the
area of each sector is proportional to the quantity it represents is referred to as a

A) Bar graph

B) Histogram

C) Pie diagram

D) Frequency polygon

188) Teh IMTTthehel FETETECeher ToT ToTHH Teh Hehol ol g Hered # TAeToId foharm STl & o1 T ol

AFCT T &1l IH AT & Ak g1 & [STaeht Tiafaiicd wIaT 8, 39 e §7 & Fefdid fhar
IRAT 2

A) SR IR

B) 3mua R
C) a1$ 3
O) ymafer agasr

189) Standard deviation is the square root of

A) Variance
B) Mode

C) Mean

D) Frequency

189) HeTeh Taerolel fehdehT TaTHe &2
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A) gmror
B) agor
C) aqﬁ?:

D) smgfr

190) Differential staining is based on application of different stains which can stain DNA and RNA

separately. In presence of which of the following stains does Pyronin-Y specifically bind to RNA but
NOT to DNA?

A) Methyl green

B) Bromophenol Blue
C) Malachite green
D) Safranin

190) fasesh L& 3elaT-3TelaT TAISTRI o TIANRT I TR & ST DNA 3R RNA T 37e1T-37e1T

31T AT §| AeATaf@d & & fhg 31faes $r 3ufafa J asifaa-y &y & & RNA &
ST g oifche? DNA &l A61?

A) s e

B) st fpeiter sof
C) Herarse o=t

D) dwp¥etier

191) Many molecules have the ability to rotate the plane of polarization of plane-polarized light.
This property is called

A) Fluorescence
B) Dispersion

C) Optical activity
D) Absorption

191) &g TUT31T H THTC-EAIhc TehIRT & YAIhUT oh THcTC I AT I &THAT BIcil & | TE I[OT Hgelrcll
3

A) gfadiea
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B) %erra
C) graor gutear
D) srqeiyor

192) Read the following statements and choose the CORRECT option:

(i) Resolving power is the ability to distinguish two close points as distinct points
(i) Magnification is the ratio of actual size of an object seen with naked eyes and size of the object
observed under the microscope

A) (i) is FALSE and (ii) is TRUE
B) (i) is TRUE and (ii) is TRUE
C) (i) is FALSE and (ii) is FALSE
D) (i) is TRUE and (ii) is FALSE

192) fArAfafad sy=t & 9¢ 3R Y fashed ga:

(i) Hehed QfercT & el TAG3HT T 3eTIT-37eTT Toig3it & &9 H e it T &THA &
(if) 3Tt foRET T o arEcITdeh 3TN o1 3eIUTel Il & 1ol 91T 3T & WM STell § 3R T I &
TR T FeAGH & @ ST g

A) (i) aTere & 31 (i) TET R
B) (i) wér & 3% (iiy wr &
C) (i) Irerer & 31T (i) TerT &
D) (i) wrér & 3R (i) et &

193) Glycolysis is an enzyme controlled pathway in which one molecule of glucose is converted
into

A) acetyl coenzyme A
B) pyruvate

C) lactate

D) ethanol

193) TelSRIeTs e Ueh Usiisd A At § foraet soeiar & Ueh 310 fove 7 aRafdla giar 872
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A) 3refieTSer FITSTSH A
B) qréwde
C) deree
D) wdater

194) A family of protease enzymes playing essential roles in programmed cell death is

A) Kinase
B) Nuclease
C) Caspase
D) Lipase

194) NEIH TSATSHT T Teh TRAR ST SHATE AT HHRAAT Fg A TaeTh ${fAHT A ar §

A) S5
B) s~ e
C) s
D) s

195) Which of the following steps is NOT involved in Polymerase Chain Reaction (PCR)?

A) Denaturation
B) Annealing
C) Migration

D) Extension

195) fAeAfaf@d 7 & Pl AT TROT it et A RuarrsT (PCR) & nfAe A8l 87

A) faspfarator
B) araregafietst
C) garaa
D) ear
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196) Isoelectric focusing technique is a method for separating proteins according to their

A) viscosity of the protein molecules

B) isoelectric points in a density gradient

C) isoelectric points in a pH gradient

D) coagulation capacity of protein molecules

196) TATICIATIHT &ATH hfeid deheiieh Teh TATE & ST fohdeh I1TAR UIET T 3719 Xl &2

A) et 31Tt T Rt
B) te aeiea wauTar 7 MsHsafaceE g

C) v pH wavTar 7 msEisafacs &g
D) wrérer 31731t hr STaATare avAdT

197) Rh incompatibility is a condition that occurs when a

A) pregnant woman has Rh-negative blood and the baby in her womb has Rh-positive blood
B) pregnant woman has Rh-positive blood and the baby in her womb has Rh-negative blood
C) Both mother and father have Rh-positive blood

D) Both mother and father have Rh-negative blood

197) Rh 31E9TdaT U 0 R T A aw g & o

A)  arstach A & 2R 3 Rh-TRIcHS Tohd BT & 31T 38 7187 3 Iof ¢ I3 &l Rh-GaicHS
AT

B)  arstachy &ferm & R # Rh-GeaticHes Tord glam & 31N 38 7137 & uof 1@ a3 & Rh-"ThRIcHA®
IFAEAT 8

C)  @ram 3R Far et & Rh-TenicHs o g &
D) @7 33K far @1t # Rh-TehRIcH ToFd glar &

198) The cell produced by the fusion of a cancer cell and a plasma cell is known as

A) cell culture
B) myeloma cell
C) memory cell
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D) hybridoma cell

198) Teh hedX IR R Teh TATSHT HITART o Heldel GaRT [ATHT FITAHT I FAT gl ST 52

A) ifRree FaeeT
B) srgeiaT IR
C) Tapfar iR
D) grefea e

199) The restriction enzyme which recognises GATC sequence is

A) Haelll
B) Sau3Al
C) BamHI
D) Hindlll

199) & Ufde=tl TSIISH Sit GATC 3HeIsh# &l Tgdleidl &

A) Haelll
B) Sau3Al
C) BamHI
D) Hindlll

200) Correlation coefficients are used in Statistics to measure how strong a relationship is between
two variables. The formulas return a value between -1 and 1, where 1 indicates a

A) strong negative relationship
B) strong positive relationship
C) no relationship at all

D) relationship cannot be determined

200) HEHET [0TIeh T 3ULTeT HITETH! H Ig AT & [T fohar SiTar g 7o a7 =) & ol Heer fevealr
A &1 FF -1 3R 1 & o<l Ueh AT olleTell §, ST61 1 AT SN il 672

A) AT FARRIcHS T
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B) Fotqd TehRIcH® Tey
C) g gaey o7t
D) getr e w18 fvar s gsar &
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